



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) =$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} =$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} =$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) =$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} =$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{2} =$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{3} =$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{4} =$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{5} =$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{3}\right) =$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) =$$

$$\left(\frac{1}{4}\right)^3 + \frac{3}{4} =$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{5}\right) =$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{2} =$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{6}\right) =$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} =$$



ชื่อ: _____

วันที่: _____ คะแนน: _____

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{5}\right) = \frac{2}{5}$$

$$\left(-\frac{1}{2}\right)^3 - \left(-\frac{1}{6}\right) = \frac{1}{24}$$

$$\left(-\frac{1}{2}\right)^2 - \frac{1}{2} = \left(-\frac{1}{4}\right)$$

$$\left(-\frac{1}{4}\right)^3 - \frac{1}{6} = \left(-\frac{35}{192}\right)$$

$$\left(\frac{1}{2}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{3}{8}\right)$$

$$\left(-\frac{1}{2}\right)^2 + \left(-\frac{3}{5}\right) = \left(-\frac{7}{20}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{3}{5} = \frac{17}{20}$$

$$\left(-\frac{1}{6}\right)^2 + \frac{1}{2} = \frac{19}{36}$$

$$\left(\frac{2}{5}\right)^2 + \frac{1}{3} = \frac{37}{75}$$

$$\left(\frac{1}{4}\right)^2 - \frac{1}{2} = \left(-\frac{7}{16}\right)$$

$$\left(\frac{1}{2}\right)^2 + \frac{1}{4} = \frac{1}{2}$$

$$\left(\frac{1}{3}\right)^0 - \frac{1}{5} = \frac{4}{5}$$

$$\left(-\frac{1}{5}\right) - \left(-\frac{1}{3}\right) = \frac{2}{15}$$

$$\left(\frac{1}{3}\right)^3 + \left(-\frac{1}{2}\right) = \left(-\frac{25}{54}\right)$$

$$\left(\frac{1}{4}\right)^3 + \frac{3}{4} = \frac{49}{64}$$

$$\left(\frac{1}{2}\right) + \left(-\frac{1}{5}\right) = \frac{3}{10}$$

$$\left(\frac{2}{5}\right)^2 - \frac{1}{2} = \left(-\frac{17}{50}\right)$$

$$\left(\frac{3}{4}\right)^3 + \left(-\frac{1}{6}\right) = \frac{49}{192}$$

$$\left(\frac{3}{5}\right) + \left(-\frac{1}{6}\right) = \frac{13}{30}$$

$$\left(\frac{2}{5}\right) - \frac{1}{2} = \left(-\frac{1}{10}\right)$$